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CERTIFICATE IN EARLY CHILDHOOD 
'SPECIAL EDUCATION ENABLING 

INCLUSION-CEREBRAL PALSY CESE (CP) 

Term-End Examination 

June, 2011 

OCD - 001 : EARLY CHILDHOOD SPECIAL 
EDUCATION FOR CHILDREN WITH CEREBRAL 

PALSY 
Time : 3 hours 	 Maximum Marks : 75 

Note : Answer all questions. Each question in part C and D 

has internal choice. 

PART - A 
Fill in the blanks with suitable words : 	 5 
(a) About 	 of the children with 

cerebral palsy also have mental retardation. 
(b) 	 position can be used for a child 

who wants to be independent in toileting, 
but does not have balance to stand. 

(c) Story telling helps in 	 
development. 

(d) The ability to put together things that have 
some common characteristics is called 

(e) When you are moving a rattle in front of a 
child from side to side and the child follows 
the movement with the eyes, it is called 
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PART -B 
Very Short Answer Questions. 

2. Answer the following questions briefly 

(50-100 words) : 	 2x5=10 

(a) List the causes of cerebral palsy after birth. 

(b) Why are children below 5 years of age met 

labelled as mentally retarded ? 

(c) List the advantages of correct positioning. 

(d) List the areas of development that are 

fostered through gardening activity ? 

(e) List the adaptations required in a bathroom 

to enable the child to participate in the 

brushing activity. 
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PART-C 

Short Answer Questions 

Answer all the questions. Each question has 

internal choice. 

	

3. 	(a) Explain jaw control and how it can be 	3 

applied. 

(b) State any two difficulties faced by the child 	2 

with cerebral palsy in the bathing process. 

OR 

(c) Explain the meaning of functional 	3 

academics. 

(d) State any two adaptations in teaching - 	2 
learning materials to help the child who has 

physical limitations. 

	

4. 	(a) What is 'alternative' and 'augmentative' 	3 

communication ? 

(b) State two types of AAC, giving two 1+1 

examples of each. 

OR 

(c) Describe one activity each to foster : 11/2+11/2+2 

(i) the child's ability to seriate 

(ii) the child's concept of space 

(iii) the child's awareness of her body 
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5. 	(a) What is toilet training ? 	 2 

(b) Mention 6 signs which show that the child 	3 

has readiness to be toilet trained. 

OR 
(c) Describe one activity for each of the 

following : 	 21/2+21/2 

(i) helping the child to sit 

(ii) helping the child to develop visual and 

auditory awareness 

	

6. 	(a) What is meant by screening ? 
	 2 

(b) What aspects you will keep in mind when 	3 
screening child after birth ? 

OR 
(c) What are assistive devices and what are their 	4 

functions ? 

(d) List any two assistive devices. 	 1 

OCD - 001 	 4 



PART-D 

Long Answer Questions 

	

7. 	(a) Explain what is meant by cerebral palsy. 	2 

(b) State the four different types of cerebral 

palsy and explain the features and 

characteristics of each. 	 2x4=8 

OR 

(c) Define 'mental retardation' and explain the 10 
meaning of various aspects of the definition. 

	

8. 	(a) Explain the five principles of learning giving 10 
examples to clarify your answer. 

OR 
0 9V1.1a1P 

(b) List the six strategies of teaching and 10 
describe any three in detail. 

	

9. 	(a) Explain the steps involved in making a 10 
communication board and the aspects you 

will keep in mind at each step. 

OR 

(b) State two common difficulties that prevent 

the child from grasping. For each difficulty 

explain 2 ways to overcome it. 	2+2+2 

(c) State any four adaptations in eating utensils 	4 
and explain how they are helpful for the 

child. 
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10. (a) Explain the steps in teaching reading using 10 
the whole word approach. 

OR 

(b) Describe one activity each to help the child 
develop 	 2x3=6  

(i) the concept of time 

(ii) the concept of money 

(iii) positive self-esteem/self concept 

(c) What is the significance of leisure time and 
	

4 
recreational activities for children with 
cerebral palsy ? 
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